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QUESTION 1

Which statement about DataBlade modules is true?

A. All DataBlades located in the $INFORMIXDIR/extend are automatically registered.

B. All built-in extensions are automatically registered when the extension is first accessed.

C. All built-in extensions are automatically registered each time the database sever is started.

D. All built-in extensions are automatically registered when the database server is first initialized.

Correct Answer: B

QUESTION 2

You are running an UPDATE statement on a table using dbaccess. What kind of lock type is expected?
A. Byte

B. Update

C. Shared

D. Exclusive

Correct Answer: D

QUESTION 3

The DBA has defined the following configuration parameters in the onconfig file:

LOW_MEMORY_MGRE 1
SHMTOTAL 1000000

The following SCQL command is executed in the SY5ADMIN database:
EXECUTE FUNMCTION taski"scheduler lmm enaklz",
"Lt START THRESHOLD", "2°,

"Lt STOP THRESHOLD", "3,
"Lt IDLE TIME", "300");

What are the actual values for LMM START THRESHOLD and LMM STOP THRESHOLD computed internally by the
database server?

A. LMM START THRESHOLD = 2MB and LMM STOP THRESHOLD = 3MB

B. LMM START THRESHOLD = 20MB and LMM STOP THRESHOLD = 30MB
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C.LMM START THRESHOLD = 500MB and LMM STOP THRESHOLD = 333MB
D. LMM START THRESHOLD = 2% and LMM STOP THRESHOLD = 3% of physical memory in the system

Correct Answer: B

QUESTION 4

Which two logging modes are compatible between two databases participating in a distributed query? (Choose two.)
A. ANSI and non-ANSI

B. Buffered and Unbuffered

C. Buffered and Non-logging

D. Non-logging and Unbuffered

E. Non-logging and Non-logging

Correct Answer: BE

QUESTION 5

Which type of device does Primary Storage Manager support?
A. File

B. Tape

C. Directory

D. Named pipe

Correct Answer: A
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